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Answer Questi
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1. (a) What is meant by degeneracy of genetic

code?
- (b) pefine Tm-
(© What are tRNA synthetases?
(d) What is precipitin?
(e) Define PfOCeSSiﬁVity of DNA

polymerases.
What is transcription s
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: (2) : | |
2. What (3 )
) are the functj
tio
ns of the following? 6 ) -
(@ , .SnRNPs 3+2+3+3=11 6. (a) Speo1ﬁ¢1ty of antigen-antibody inter-
¢« (B RN actions depend both on the chemical ;
- ase H ’ compositions and the.3-D structures of |
© Poly (4) tail _ epitope and paratope.” Do you agree
(d) Spleen ' with the statement? Give reasons for
. your answer. 6
8- (@) Define () What are the roles of A, P and E sites in
‘Writhe’ a:d tems ‘linking translation? 5
negative supe ‘tW.lS.t’, and explin{mber .
) Why 4 rcoiling of pNA ain the 7. (a) Explain the concept of operon using the
" doubl © the polynucient: . 6+2=8 regulation of 1actose metabolism in
pamn:;heﬁml DNA aeotxde chains in E. coli as an example. 6
ori . Ssoci . L : .
. Hentationp - ore i anti- () How are endogencus antigens processed |
- @ DeSCribe . 3 and presented in immunocompetent
dia With the hel animals? 5
gram  the P of a ne
E. coli tRyp secondary at labelled .
(b) Nam ) Structure of 8. (@) What is a monoclonal antibody (MAb)?
€ the 5 . 4 Briefly discuss the applications of MAbs
Polymerage Ubunits of E . human health care 2+4
| functions, = 4 des - coli RNA in B ' =6
Jﬂ (¢ Dra ' cribe  their (b) Differentiate between effector mecha-
| W a neat labe]] 5 nisms of innate jmmunity and adaptive
SCrint: . . . .
5 “ription prOmZ(: diagram of E. coli 1mmurilty with the help of suitable !
« (@ How q: T examples 5
thews‘,:il;il Meselson and ?
Co . S
(b) What j < ve replj tal.'u elucidate * Kk *
S thymic eqy cation of DNA?
Cation?
5
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